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1. This question is about set builder notation.

(a) Express each of the following sets using set builder notation.

A = {1, 11, 111, 1111, 11111} B =

{
1

2
,
3

4
, · · · , 21

22

}
C = {2, 3, 4, 5, 6}×{110, 111, 112, 113, 114}

(b) Write out all the elements in each of the following sets.

X =

{
x ∈ R :

10∏
n=1

(x− i) = 0

}
Y =

{
(a, b, c) ∈ {1, . . . , 12}3 : a2 + b2 = c2

}

2. Write the following statements in DNF and in CNF, for u, v, x, y, z, w logical statements.

(x→ y) ∧ (z ↔ x) (u ∧ v) ∨ (w ∧ x)


